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1.9479 & 38,509 3,750 34,759
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1. 02 Qo) A Q1 A n) 33,759 0 33,759
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5,149,000 *1al=
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2. RAEA /WS AR} F A 239,616 172,069 67,547
1.2 #g 145,827 135,835 9,992
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1w A= 132,099 122,006 10,093
A QA E] (2=9) R o] ™
1Le2 g2 A= 132,099 122,006 10,093 iﬁs%?éfﬁ 1(5=e14b) + 359.8591+23% 1,556,000
ShA Qe A mAlEE el 751+184 1,382,000
#10Y=
WA ST A mAE () ¢ 585,000
2,5409%23W %10 =
22 =) 2] 3 A = AL
| Hfd_lT)ﬁ )3 E5AHE 1 5,838,000 5,838,000
A+x13]=
(*é%ﬁ_lﬁ)_%)%¢%%¢t% F2m) 732,000
732,000 %13]=
2. g2 583 583 0
1.9 583 583 0
3,929 12,550 13,106 -556
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(AEA_153)5)2022. F2 24 diAAgA
1.7 A el Am 455 0 455 . 455,000
FA AR M) © 454,68090%13]=
2. 71 A A A1 7] 140 140 0
2. 1A% 29,831 21,626 8,205
1. [ ] E w2 ¢ 1797 7] 9,876 7,516 2,360
135S H| 50 50 0
1.8h A1 A 1) 50 50 0
2. AT A 2,070 2,070 0
1.3 20 2,070 2,070 0
3.157489 5,756 5,396 360
1,514 24 w] 5.756 5.396 360 (*é%‘%j_l%)%)ﬂ%fj&%@*}ﬂE%ﬂﬁz}‘ﬁ 360,000
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4. [Fa]E)FAddadddsta91),000 0 2,000
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1.8 82w 2,000 0 2,000| (¥ HAATF)IALEH] 2 250,000« 4] 1,000,000
(AHEA_1F) TR 0351 100,000 900000
Y23]= '
& &1%)%03 o W-E o] - H| 200,000
50,0009 #43]=
(;4: HA_1:)FAEFTYY 150, 0004 600,000
2.8t 37 9 A e 19,955 14,110 5,845
1.9 =23 8,320 8,320 0
1. g5k 8,320 8,320 0
2. 27 A=A 5,790 5,790 0
1. g k8-1] 5,790 5,790 0
3.9 w711y 5,845 0 5,845
g 2] = Yol O .
1 7]Z}Z1]Z]—?J?_Zjﬂ] 5,845 0 5,845 (}‘o tlx‘j._l_l‘)%)uo ﬁE‘l"u] ?_]_73_5] . 5,845,000
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1. B9 32,950 0 32,950
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1. 771 Ak ] 240 0 240 9 12.000815204 7 = 240,000
A d 1= H H 2 4
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AR | G | A ARG A7 5 A = e il @
2. WFHAAY G H| 31,710 0 31,710
o o3 2~k (ARA_13) 2329 9 127) =2 2AN (A}
1.8£9449 13,646 0 13,646 |, o 01108 2y AL 32 00090265, 5012 = 13,646,000
(A-A_NIFIAANEY 9] 167] T2 23
2. W5 $gn 17,264 0 17,264 17,264,000
A Sou] : Logu] 1,079,0009167] =
B 28z 1Z2=)3 o3y ¢ Aol3n
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(AHEH1F)E)FEAAE uEFY
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37184 w&EF 38,187 30,282 7,905
1.3 &5 11,100 6,840 4,260
1.2 FEA Y 5,110 1,750 3,360
1,850 519 150 150 0
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2. WAFE R IA (K] AT 1,000 1,000 0
1. 1&g H| 1,000 1,000 0
3.1 AF A 2,100 400 1,700
1.9+9 2,100 400 1,700| HASF 10,0009 %503]= 500,000
A A4 P W) 1 24,0009 #50A] ZF= 1,200,000
4. 7128 E A% 200 200 0
1. 25 H] 200 200 0
5.3 WAL 1,660 0 1,660
IRA_15)E)Es Ak ofn] 1 (20,000%18] #1751
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1. WS- 380 380 0
3.38 wads 2,660 2,660 0
1. 07 2,660 2,660 0
1. %89 1,610 1,610 0
2. 1T 1,050 1,050 0
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1. 07 520 520 0
1. %89 520 520 0
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4. B FE 4] 2,000 2,000 0
4.8 wegy 53,580 9,800| 43,780
1.%353un &9 2,880 0 2,880
L5k 2,880 0 2,880
1.8 35-3h 8- 2,880 0 2,880
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2. 5% 7,450 7,100 350
1.5MZF529 7,450 7,100 350
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2. =AY H] 6,000 6,000 0
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3.37] 54 37,650 2,200 35,450
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1A AR o 1,000 1,000 0
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2. AR 1,200 1,200 0
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ukEs) 20224 049 229 124] 578 39% 6 APRE RS A%7| A2t




2022381 A = Al = o A Ml A
ANTFE : F715] (29 = A
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= =)o) & FA) =
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2. 8] E91] 600 0 600 | W&-H] (o] ) -9 : 300,000 2= 600,000
2. A KA A 13,689 4,089 9,600
1.8 A R34 13,689 4,089 9,600
1.08$9n 2,188 2,188 0
2. 8] E9] 11,501 1,901 9,600 | 7 FFE LA : 950,000¢) 8= 7,600,000
EUE 7Y : 250,00098]= 2,000,000
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2. A AFY PN 3,000 3,000 0
2. 344849 28,602 27,302 1,300
1.4 RkG=8-] 16,252 16,252 0
27T T 250 250 0
3.09m 10,000 10,000 0
4. G932 800 800 0
5. 1] -4 1] 1,300 0 1,300 :=E5 : 1,300,000 «1t)= 1,300,000
3. u 594 2,800 2,800 0
1.9 Rk=8-] 1,500 1,500 0
2. 4Nl Fx0] 1,300 1,300 0
2. YA ANE & 42,730 42,730 0
1.3 (A A AR 74 42,730 42,730 0
1. 771 A1 k2 171 H] 38,602 38,602 0
2. 07| A A AP AT 4,128 4,128 0
2.4 H FA4 130,914 110,561 20,353
1.3 Al ] f A 130,914 110,561 20,353
1.3 FeFLAN T} 39,282 38,282 1,000
1.871 8% 25,000 24,000 1,000 47125 : 1,000,0009)%13]= 1,000,000
2. 4% EE 6,396 6,396 0
3 EETae 7,886 7,886 0
2,980 1,000 500 500
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3 AR 89S 10,344 10,344 0
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L7 Al Q1 v 18,349 18,349 0
2. k8] 1,000 1,000 0
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L7 Al kA Q1 20,027 19,010 1,017 | (BH1 ) 7155 © 1,017,0009%13]= 1,017,000
2. kg 2,760 2,760 0
3. A A AP AT 1,740 1,740 0
3.89m99 ¥ 2,100 2,100 0
1.3 g 94384 800 800 0
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1. dukQl 700 800 800 0
2.3 gy 1,300 1,300 0
1. 859232 300 300 0
1. A9 -2 300 300 0
2. W 1,000 1,000 0
1. A& 1,000 1,000 0
7.3 AL 1,000 1,000 0
1. on)n] 1,000 1,000 0
1. ojlu]H] 1,000 1,000 0
1. n]n) 1,000 1,000 0
1. <jn)H] 1,000 1,000 0

drz
h

£33} 20220 04€ 229 12A] 57% 39%

10




